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1.

| SSC Practice Set-2 |

A and B can together do a piece of work in 6
days and A alone can do it 9 days. The number of
days B will take to do it alone is :

A 3 B fieTet U& &M & 6 e § g0 &Y wavdt € 3T
A 3o IV 9 e | &Y TehaT 81 B 3Nhet 3H & &l
foraat fea & &Y wa?

(a) 18 days (b) 24 days (c) 9days (d) 12 days
The length of the two parallel sides of a
trapezium are 16 m and 20 m respectively. If its
height is 10 m, its area in square metres is

TS UHT hi & THTAT YSTISH i @aTg Shuvl: 16 Hiex
3T 20 2T #1 Al IHAT @aTg 10 HeT &) ot ot Hiex A
SUHRT STH ATd HIfTT?

(a) 360 (b) 260 (c) 240 (d) 180

A discount series of 15% , 20% and 25% is equal to
the single discount of?

15% , 20% 3R 25% &1 Ge @ Tohad % ® THel G
% ST 87

(a) 48% (b) 49% (c) 50% (d) 51%

Rs. 490 is divided amogn A,B and C such that A's
share is half that of B's and thrice that of C's.
What is C's share?

Rs. 490 & A,B3iR C % 3@y fawifea feram st 2
T AR IR B & JHEX @ NN 81 3K C & 931 € i
T ®1 C & 9 R @2

(a) Rs49  (b) Rs. 147 - (¢)Rs. 294 (d) Rs. 245

An article at 6% loss. Had he sold it for Rs. 64
more, he would have made a profit of 10% . Then
the cost of the article is

faet avg @t 6% @t & WX o=l Al 3T 3W T &l
Rs 64 3114 ¥ S gt at S® 109% T & 8T | a5
&t @NTa TRt 82

(a) Rs 400 (b) Rs. 200 (c)Rs. 164 (d) Rs. 464

There are 1400 students in a school, 25% of those
wear spectacles and 2/7 of those wearing
spectacles and 2/7 of those wearing spectacles
are boys . How many girls in the school wear
spectacles?

T&H @ W 1400 BT 8, 3TH 25% T9AT oA § R
TYHT T ATl W 2/7 WSk B Thed W {hat ergfenat
TYHT T §?

(a) 250 (b) 100 (c) 200 (d) 300

A man can row upstream at 12 km/hr and
downstream at 18 km/hr. The man's rowing
speed in stillwater is

10.

11.

12,

13.

14.

TS AEH T &I Uiagwet fGem § 12 fdo Ho der 3iX
IrgEet feom & 18 f&. . et &t 7 | et o qHar
?1 TR 57 # Suaht AT T &t A feRat geit?
(a) 15 km/hr(b) 5 km/hr () 8 km/hr(d) 10 km/hr

2
If ab- 21 and @*? :2745

(a - b)?
a? +b2 1+ 3abis

Ife ab— 21 s @+d® 25

then the value of

(@a-b? 4
A a4 b2+ 3ab & HF FAT AT ?
(a) 115 (b) 121 ©125  (d) 127

The value of (d*'? = d®) = d! would be
(d*t 5 d%) = dt T WA =T Bm?
(a) 2540 () 1 0 () ds*t

Possible measures of three angles of a traingle
are

S Trget & @7 SIon @ Gfaa 7E @@ gam?

(a) 30°,42°,115° (b) 40°,70°,80°
(¢)30°,60°,100° (d)50°,60°,70°

BD and CE are two medians of the triangle ABC.
If EO= 7 cm, then the length of CE is

BD 3R CE B« ABC & wieas: 81 af€ EO=7 AW, &

@t CE &t oarg faa-t 872
B
E
A D C
(a) 28 cm (b) 14 cm (¢) 21lem (d)35cm

If sec?0+tanZ0=+3
sect0- tan?0is

i< sec® 0+ tan? 0 = /3 & @t sec? 0 - tan? 0 & AR
TehamT 87

(1/43 ()1 (©) 3 (o

The greatest perfect square number of 6 digits is
6 3@ I WaW FEt gul vt TEE F git?

(a) 999001 (b) 998001 (c) 998009 (d) 998101

The avergae height of 30 boys out of a class of 50
is 160 cm. If the average height of the remaining

boys is 165 cm, the average height of the whole
class (in cm) is :

then the value of
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1S.

16.

17.

18.

19.

20.

21.

50 TIHI Hi TH & U 30 gl &l 3irEd aw&mE 160
/.9 31 A 9IY oeH! it i og 165 /. 2, @t
T e & ofd o (AL R) fwe @i

(a) 161 (b) 162 (c) 163 (d) 164
Givena-b = 2,a3 — b3 = 26 then (a + b)? is

g a-b=2a%-b3 =26 A @ (a+b)? & A7 F

grmr?
(a)9 (b) 4 (c) 16 (d) 12
IftX+Y+Z =9 then the value of

X-93+¥-234+Z-3%-3X-9Y-2Z-3)
is

ge X+Y+Z=9 @ @@ X-493+x-23
+HZ-3)3 -3(X -4)(Y - 2)(Z - 3) &1 AN feha &?
(a) 6 (b) 9 (c) 0 @1

Three medians AD,BE and CF of AABC intersect

at G; Area of AABC is 36 sq cm. Then the area of
ACGE is

AABC & 1 Wiftaant, AD, BE 3R CF T& TR &l G
W e €, A AABC &1 gkt 36 V.12 € @ ACGE
&1 e fehraaT 872
(a)12sqem (b) 6sqem  (¢) 9sqem (d) 18 sq cm

A chord of a circle is equal to its radius. A
tangent is drawn to the circle at an extremity of
the chord. The angle between the tangent and
the chord is

TS o i a1 (1991 & aUe @) Siar & 8 WX g9 |
TS Wyl 3@ i St @1 Wyt W i Sfier & i
VT TR 79T T EAM?

(a) 30° (b) 45° (c)60° (d) 75°

If nsin6=1, nmcosf8=1, then the value of
2 )

3 tan(ge +1)is

3y
gfe 7nsinf=1, ncosf=1 &, (V3 ta 26 1) @
3

HH &4 gRM?

(a)1 (b)4/3 (c) 2 d)1/+3

The difference between simple and compound
interest (compounded annually) on a sum of
money for 3 years at 10% per annum is Rs. 93.
The sum (in Rs.) is:

10% 9fa ad o3 3 o & feru femedt T w@ wmemo 3iv
wehgls s (@ wfvad waifsia faren Sman €) & stwr
3T Rs. 93 &7 &1 YT fomast (Rs. ®) 87

(a) 30000  (b) 30300 (c) 3000  (d) 3030

The angles of elevation of top and bottom of a
flag kept on a flagpost from 30 metres distance,
are 45° and 30° respectively. Height of the flag
is (taking /3 = 1.732)

22.

23.

24.

25.

TH &9 WY W @ &9 & v % 30 e &t g &
SATA HIVT HAI: 45° 3T 30° B & &t Harg Teha-t
2?2 (WMT 43 = 1.732)

(@) 123m (b)15m (c) 14.32 m (d) 12.68 m

Study the following bar-diagram are exchange
reserves of a country(in million US $) from 1991-
1992 to 1998 -1999.

TN ITH i &4 W ufgd 3T gyl & WX s i fou
MM I J® ® TS oW &1 1991-1992 @
1998-1998-1999 & T B Tawew fiwd (faferaw
758, §) ¥ fean 1
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The ratio of the number of years, in which the
foregin exchange reserves are above the
average reserves, to those in which the reserves
are below the average reserves is
TH 99l @l §EAT S8 BiRe Tades [erd oited ferd 9
?gmﬁaﬁ?ﬁﬁaﬁfﬁﬁwﬁﬁaﬁﬂm fiod @

(a) 2:6 (b)3:4 () 3:5 (d) 4:4

The foreign exchange reserves in 1996-97 were
approximately what percent of the average
foreign exchange reserves over the period
under review?

¥ 1996-1997 § ®RA Tawds, MEd ®iRA (e

Tird &1 e foRaen wfava w@r?
(a) 95% (b) 110% (¢)115% (d) 124%
The percentage increase in the foreign

exchange reserves in 1997-98 over 1993-94 is

e 1997-98 W a¥ 1993-94 & VAT BRA THTSS |
fore e arferes gt g8 7

(a)100 (b) 150 (c) 200 (d) 120

Ratio of the sum of foreing exchange the years
1991-92, 1992-93, 1993-94 to that during the years
1995-96, 1996-97 , 1997-98 is

¥ 1991-92, 1992-93, 1993-94 FH HRA TaFwRw e
F A 3R ad 1995-96, 1996-97, 1997-98 F R
TFeS 9 d & 91 &1 U J1 shifeig?

(a) 31: 35 (b)35:31 (c)37:52 (d)5b2:37
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— ANSWER KEY
1. (@) 2. (d) 3. (b) 4. (a) 5. (a) 6. (a) 7. (@) 8. (b) 9. (b) 10. (d)
11. (c) 12. (¢) 13. (a) 14. (b) 15. (¢) 16. (c) 17. (b) 18. (a) 19. (¢) 20. (c)

21. (d) 22.(c) 23.(d) 24.(@  25.(c)

HINT & SOLUTIONS

1. A+B A A &
(Time)¥ a6 fqA 9f (6,9 FL.C.M.= 18
(Efficiency) 3 2

EREitnll
(A+B) R e = 20 o
(A + B)<h1 999
_18_g4
6
AFFram = 0 _18_4

A+B A

(A+B) A Bt &1
Sema (18] et ®ri = L.C.M. (6,9)
oo = HT M
A+B=3 A=2
B=1
BT = 30 P
B &THal

=1—18=18E‘—r

2. Ae—163fo B

103fto

B C

«—— 2030 ———>

THETS 1 &lo :éxﬂ'ﬂﬂv_\ﬂ TSI <1 AT

JER R
:%X(AB+DC)><AO
:éx(16+20)><10
:%x36x10:@
= 180 w2

3. First Method :
T2 THIN SR Fod (Mp) R < St 2l

15% = >, 20% =+
20 5
25% = ©
4
Mp Sp (fasha 7o)
20 17
5 4
4 3
100 51
YT = 49
% - 100%
sifehd Ho

449 x 100 = 49%
100

71100 |49 L = 49% T2
Second Method :
T a% 3R b% F A HEE T2 G I A A 2

\
:(a+b—a><b %
10

15%, 20% % <1 hitw T

15x 20)
ww:(wmo- %
~ 100 1
=35-3=32%
& 32%, 25% 1 < HiHH TS
32x 25)
W@z:(32+25— %
- 100 1
=(32+25-8)%
=49%
A_1 A_3
B 2°C 1
TB A &F AF I SR HU|
A_1x3 A _3
B 2x3'C 1
A:B:C
3:6:1
490
A B C total
3 : 6 : 1 10unit
cwarm =290 1= 49 %
10
First Method :

HAThI I (Cp) = 100 unit
16unit = 64 %o
lunit = 4%o
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< @ 7 Oo.
60106{?\ O%gf
G
ferwer 310 (SP,) fawer 370 (SP,)

100 — 6 = 94 unit 100 +10 = 110 unit

3teeE = 64 wo (= 8)
=16 unit

100 unit = 4 x 100 = 400 %o
Second Method :

B (loss) = 6% = i — B (IOSS), oY = 10% (profit)
50 — Cp

_ 1 _ 5 — @9 (Profit)
10 50— Cp

(50)_unit = wa st (Cp)

gife1 = 3 unit @181 = 5 unit
3fedt? = 8 unit
IE 3TN 64 To & SR a1 B
TIATAR Wﬁo:%x50240030
25%:%, %:agaa(mmﬁmﬁ)
x7=6§aﬁm[aﬁ
N TLHT TIOTE! alett ersfiibet
7x%=2 =7-2=5
y
TLHI CI91E dlcl 15D
TIIER
28unit = 1400
1unit = 1200
28
5unit = 2200 5
=250 Ans.
WM AEH &t Ut § =
= x fopHto /=0T
AT GRS 1 = y fRsto/Eoer
SIRT o Wicshet
x — y = 12f®H o 5w ..(d)
&RT o STTHA
x +y = 18TwHo/muar ..(ii)
(1) & (i) |
X = 12;18:%:15&‘@0%
x =18-12-6 — 3 fwHto/mUa
First Method :
ab =21
(@+b)?* _ 25
(a-b? 4

4(a? +b2)+8ab = 25(a? + b2) - 50ab

21(a? + b2) = 58ab

21(a? +b2) = 58x 21 [ ab = 21]
a?+b% =58
Now, aZ+b%2+3ab=58+3x21 [-a?+b? =58
=58+63=121 Ans.
Second Method : (Put the value & get the
answer)
ab = 21
2N
7%x3

a:7,bz3ﬁvalue3§Wﬁsatisny§l
@+b? _10* 100 25
(a-b)?

@2 16 4

a=17>56=38 ab= 21
a?+b2+3ab=72+32+3%x21=49+9+63
=121 Ans.

Le.,

First Method :
(dS+t +dS)+at

s+t )
d’ |

) a5t iy 1
dS
ds+1
dstt
[d° x dt = d°*" ¢ o ¥ =1 e St 2 1]
Second Method :
Put

s=t=1
(ds+t+ds)+ds
d+d=1 Ans.

Bk R Recas il

10.

Ig U9 option ¥ attempt HIAT AT T B
(a) 33°, 42°, 115° = 190°

(b) 40°, 70°, 80° = 190°

(c) 30°, 60°, 100° = 190°

(d) 50°, 60°, 70° = 180°

T S © A % i1 00 1 A 180° Bl R
el option (d) Tl 2l

11.

B
b/
A .
TS © hegeh FI9S o e b 2 : 19 farefora swean )
l.e., CO :OE =2:1, CE = 3 unit
1unit = 7 9o

3unit=7 x 3 = 2190 Ans.

12.

sec20+tan20 =43
sect0-tan*0 =72
(sec20)2 - (tan? 0)2 = (sec2 0+ tan? 0)
(sec?8 - tanZ 0)
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[ a? -b% =(a+b)(a-b) a® - b3 =26

sec?0-tan?6 =1+ tan26 - tan?0 Put the value, get the answer.
=1 a=3b=1

sec*0-tan*0 = (sec2 0+ tan2 6)() a-b=2
=3x1 a®-b3 =26
=3 Ans. (a+b)? =3+1D%2=42=16 Ans.

13. 6 37l wt St W qEt YU T T 16. First Method :

= x2 x+y+z=9

6 3l H T T T &
x2 <999999 = 999999
999999 I U R = 1000000
= (1000)2

x+y+z-9=0
(x-D+(y-2+(z-3 =0
A B C
SEI A+B+C =0
A2 +B3+C%-38ABC =0

Afe 3898 7 3%
-3 1 (y-22 4@-32 -3 -4(y-=-9=0

6 3F 1 = (1000 — 1)2
=(1000)2 + (1)2 - 2x 1000 x 1

A
[(a-b)? =a?+b2 - 2ab] 17.
=1000000 + 1 - 2000 F E
=998001 Ans.
B C
14. First Method : ° \ g
30 TTEF | siEa T = 160 To G — 13 & 2 g i.e., F5eh A bl i SRR 900
30 TSH F F TR = 160 x 30 = 4800 Tfo ot 2 21 2
AT (50 — 30) = 20 ASHT HI G o = 165 x 20 ie., AAGB:ABGC:ACGA:?:H
. = 3300 lto - TRt A 1 S SRIeR 91 & faenfsra st 2
50 TTghi I i eo = 4800 + 3300 = 8100 THlo AAGC
12 9
Second Method : ACGE = ) =6cm
Mixture alligation T a1 ACGE = 6 cm 2
18.

UM AB = Sl = r = B0
. AOAB — 95T A
Z0OAB = /OBA = /BAO = 60°

15, a-b=2
a®-b3 =26
(a+b)? =2
First Method :

a® -0 =(a-b)la?+b2 +abl
26 = 2(a? + b2 + ab)
13=a2+b%2+ab

(0L+b)2 =a?+b%+2b

FHTxx'ﬁAW@I‘Sfi’@T%I
B9 SMd © 091 391 99 % g W HHRIOT SR

.50 TSHIH i o = % ~ 1628t e AAGE = AGCE =

TE a? + b2 + b U A A & BN - TS ab AGH B Le., Zx' AO =90°
. o Zx' AB+ ZBAO =90°
Le., Ans. =13+ 2.t AR 2 508
only option (c¢) i.e., 16 Ans. x . .
Second Method : Sen @R Taet Y@ & s S R
a-b=2 19. nsinb=1 (@)
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mcosh =1

Le., nsin® = mcosb =1

...(ii)

sinB = cos® — sin45 = cos 45

6 = 45°

]]ﬁtan@e\] + 1} = ]I«/gtan(g X 45°:+ 1}

— J3tan30°+1 = v3. L +1

=1+1=2

NE]

Ans.

20. First Method :
10% = i
10

¢ =38
Let

HIYROT <A1 (SD = 300
CI(=srafg =) = 3319
F=R(CI- S = 317fTe
319fE = 93%o
19 = 93 _ 80

31

P (@) =103 =1000 =

1000 I = 3x 1000 = 3000 &o

HAHA(P) = 3000 %o
Second Method :
Ifg r=10%

I3 T4 R CI- SI = 3.1%

P =£><100
3.1

=93x1000 = 3000 %o

21. First Method :

B
4.ﬁ‘

D C

AB = &3
BC = &9 &
tan30°zﬁ

DC
1 _BC

V3 30

D

)
«——3——>C

30
BC = —

V3

NERRE
BC:?\/E

BC =103 ()

tan45 = £

DC

)
De—30—— €

1= AC
30
AC =30
AB= AC- BC
=30-1043
= 30-10x 1732
=30-17.32

AB =12.68 cm

(/3=1.732

Second Method :

AB = &9

o
Q
1

o _ d
30° = — mtr. 60°

_A30°
De——30——> C

= 10~/3 mtr.
~+30° : 60° : 90°
d
1:43 : 2
BC =10x+/3
=10x1.732
BC =10x+/3
=10x1.732
BC =17.32mtr
45° — 30 mtr
45° — 30 mtr

AC = 30 mtr

A
d

45°

45°
o c

+ 45° : 45° 1 90°
I & i
1:1: 42

AB = AC - BC
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=30-17.32
AB =12.68 mtr

24. 1993-94 ¥ =& = 2520 + 2520

1997-98 H fsd = 5040
. 5040 — 2520

i ] i x 100%
| ! _ 2520
22. 3ia fta = (2640 + 3720 + 2520) + 3360 + 3120 ; =~ 9520 " 00%
+4320 + 5040 + 3120/8 i =100%
= 3480 i
HRA T o e | e sia | 25. 1991-92 @ frerel = 2640
3o 5 ¢ i 92-93 HIR=E = 3720
3.5 ; 93-94 I TEE = 2520
— | = 8880
3. 1996-97 !
‘ . 1995-96 = 3120
FRA TS e = 4320 ! 96 - 97 = 4320
airga fistd = 3480 : - 02
o : 97 - 98 = 5040
=227 %100 = 124.13% ! =
3480 ’ : gl
=124% Ans. |
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